8.13 Multiplying Geometric Operations.notebook March 19, 2018

Do Now
Simplify each expression

1) (6x2+ 2x - 8) -|(3x2 - 4x + 3)

bx?+Qx-8-3x2+Yx =3

3x2+lox — 1l
2) X(-x2 + x - 2)
2

XX - 2K

3) 7 + x%(2x - 8) + 4x3
pl
-I -\~ZX‘S-%>§ 'TL/XB

bx>- Qx4 ]

Mar 8-9:44 AM

HW Answers

1. 433 + 332 7.18b2+2b + 8
2. 3h5 - 5h3 8. 12n3 + 5n2 - 19n
3. x3+ 2x2 - 5x 9.6m2+ 6m -3

4. -3n3 - 6n2 10. 28x2 - 6x - 12
5.-2¢c%+4c4-10c3

6. 2x3y - 5Xy?

Mar 16-10:17 AM
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1)
6x - 12

2x2

A. Find the Area of the rectangle
A=l T )
A\ NS \'D

140

B. Find the Perimeter of the rectangle if x = 3
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3x+2

4x
A) Find the area of the larger rectangle

| * A=l
%sx 2 A= tx(3x+Q)
A - 1A% 9x
B) Find the area of the smaller rectangle
QKD 02)((3X> - A
VN
C) Find the area of the shaded reglo:S /
Shoded = Lowf!t ol
)(3 eI = (hx )
ax e g)( (0 Y

R
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4) Find the area of the shaded region

nﬁx

Sl 8x—1
TxEopr D) fori o
0%+ o A8%-bx
g Aoy ~(10X*+bx)
047 x-10x" = x

494" -1 x
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